2 2 AH 6
34— S zg— P (eap) ASking

9.=9s9. Ge=09s 9L _
=21=2 =23=6 ZS = ge_2

8.1 Na 82AH  AS

(H,+Cl,)/2 0K
& &
U(0)
“ U(0)
8.4
8.1
1) 298 K Ho + 1, > 2 HI
(ASvib / k, ASrot/ k: AStrans / k: ASelec / k)

H, P HI
Vv [cm™] 4162 213 2230
B [cm™] 59.3 0.0373 6.43

o 2 2 1

m [amu] 2 254 128

1 1 1

2) 298 K

H, 12(9) HI

AH¢ (298 K) [kJ mol™] 0 62.42 26.50
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U —U(O):éZeigi exp(— ;)

e -
QLB ), B ),
B=11kT
X
Uvib:EkT
x=hv/kT
r
Urot:EkT
r r=2, r=3
Ugrans = —KT
s=9;$EQ+ka 87)
[ X
Svi = —Inll—e7*)|k
SRR
(X=hv/KT)

L o 2 Bav
r(rr(r/2)=1 ( ), T(r)(ri2)=vr ( )
Bav:B( )‘ BaV:(ABc)l/S( )

5 3, 2zmkT
Strans = |:E +EInT + |nV:|k

A =1/( [ D
Selec = (In Oelec )k

(8.al)

(8.a2)

(8.a3)

(8.a24)

(8.a5)

(8.a6)

(8.a7)

(8.a8)
(8.29)
(8.a10)
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